A

1.

2012--2013 Z24E FF b 2233 o i Bl i,
BFRE &=
ZA T 8] : 120 4344 R 1 150 4y
. ARBIE 12 /M E, B/PE S5, 3604y, EE/PNELS BT

B, RAE R G- HERE.
TR SR P IER A MR

®0€N+:@‘%EQ:@ﬂEQ:@OE¢:@\/EER:@—3EZ:®OEZ: ®09€eR;

()8 B)5 ©3 (D) 2

E£E5U,S, T, F MRAWMEFTR, PSR F LA HoE U .)

DSSEU. OF ST, ®SET. @S=F. 6F=U @
A5 (B) 4 ©) 3 (D) 2
WHEAS A={x|-1<x<2}, B={x|x<a}, # ANB# ¢, N a WHE L Z

N a<?2 B a>-2 €) a>-1 D) -1<axg?2
AT R £ (x) A g () B9 SOSAVE ST A {1,2,3}), How L h&:

X 1 2 3 x 1 2 3
f(x) | 2 3 1 gx) | 1 3 2
5 N g f(x)] M, =14
RIKHN x 1 2 3
w3,1,2; ®2,3,1
©1,2,3;  M3,2,1. gL/l

O ek f(x)=3x—-4 1 8 N
[-10,5) , MIE Ky 5E I
() [-2,3) (B) (-2,3] (©) [-3,2) D) (-3,2]

CEIRE y =" WERSRE y = f(x) KBS KT HZL y = x X%, M

RV HERAE B 1R 5 R



10.

11.

12.

A f(x)y=e™ ® f(x)=e* © f(x)=x° ) f(x)=Inx

SFENES x, & ()W y=4x+1,y=x+2,y=-"2x+4 =ADERE T HHE/ME,

W f () BB R AR A

) % ®) g ©3 0) FAF1E

ELIERH y = £(x) N RES, B £(0)==3, F(1) =0, £(=3) =0, MixA — ik

BB S f(x) =
M) x*+2x-3 (B) x*=2x+3 ©) x*=2x-3 (D) x*+2x+3

B X +2x> =5x—6=(x+a)(x+b)(x+c), Ha<b<c,
W) b=-1 B)b=-3 ) b=2 D) b=4

x*+2x—1

PRAL f(x) = 7 MBI

Wy ®Ulry Oplyz0 0plo<ysy

CAIRREL f(x)=x, g(x) &2 XTER FHMEREL x>0 0 g(x)=1gx, Wik %

y=f(x)-g(x) FIKEEZN

ya 3 y

~

e iy &
9\

(D)

W
/ 0 0 \ / 0
(A) (B) ©)

FEIT B () = —— L L P i, T o KR
x—1 x x+1

OBRE f(x) e A x| x#-1Hx#0Hx=1};
OMEHZ R ;
OEH f(x) &7 EREL

@RREL f (o) FEXTE] (0, 1) L2 53/ Il 2R 4L
HPREH T HERE B2 W5 T

o



M1 (B) 2 ©3 (D) 4

RV HERAE B3 W H 5K



Z. T, AKEIL 4 /NE, 8BS 4y, 320 4.

13.

14.

15.

16.

Pt A={a,,a,}, 84 B={b.b,.b,} , Mt A 5| B HOWA A (Bl
SR, REEERRBR)

R LS (0]} =64x+ 21, W—REEL f(x) =

BRI T2 R REIE HUH 31 4 RS IECE I, 24 & [ 5 ni
SR, 24 ARSI T2 P S, B LSRRI 7 &2, RB

- VIREPTRISE AR 5 A, RSIWEL. WmRi A 3 4R, RS s,
WEMBIH 4 4. 5128308 55 HLFES, WECE. WBL. (e sa 38 ca S E

\

YH_ A

TG h, EH R (FRE ity S 2I75)
-x-1 (x<-1)

Ok y={-x"+1 (-l<x<]) RTEHEL:
x-1  (x=D

@FKL f(x) = ——— RA L
2" +1

@E% f(x) =In(x ++x> +1) BT EH

=\ BERB: AKEBIL6 /B, 705, BENTHXFRA, IEHTER
HEDRK.

17.

18.

(AN 43 10 53)

(1) B3 f(x) RABEEL A x> 08, f(x)=2x(1-x>). K% x <08, EH [(x)
I =0

(1D B3 f(x) AR, Ax >0, f(x)=2x(1-x>). K% x <08, EH [(x)
(i =X

(AN 53 12 53)

1 1
HE: (1) (0.064)  —(——=) 216" + (12 =B3)":
v (0.064) ° —( 2\5) +( )

(H)1g52+§1g8+1g5~1g20+(1g2)2.
—HREHFHERE B4 W HE 5T



19. CAR/ANETH 73 12 43)
CAEA P={x|x"—4x+3=0}, E50={x|x"—ax+1=0}. # PUQ=P,Ka

FRVEERENEER
20.  (CAR/NEH 4> 12 47)

TR BN TR ELRKR, BEN NET I 4 7. %A T NBHINE 2 WS, % K&
HEI 100 T 5 BB SE4T “He AN 2, BARE B ke W SE 872 100 F 5% % 1000 T 77

1, 3 100 T 52 (K58 50 54T 9 Fr L & W SR AE 1000 7 2 5000 7 i, #1000 T 7¢
IS 94T 8 Fr il A T SE & 1t 5000 T3¢, it 5000 T 5 )8 7 247 7 it 2.

BV L&y x T e, Frf ZEHEE08 f(x) .
(1)3k £(100), £(1000), #1 £(5000) ;

(IDK f(x);
(IID) 8000 JTHEM K % /b 23 Fr ik F K 2R 2

21, CAR/NEH 4y 12 41)

El%lf(x):exjtea—x(xeR),ﬁﬂPaeR.
(T)EW: % a = — 1B, f(x) RARE
(1) % a <1, GEBT: B £ () 76 X 1] [0,+00) b2 26 138 B 4.
22, A/ 7Y 12 49))
EAIRHE y = f(x) RATH R L
() ERH Y = £(x) R (64,3) , KK £ (x)
() i g(x) = £()-[f() + f2)—1]. % y = g(x) £ [ [%,2]t%iﬁ_fniﬁz, R

By=f(x) & a MEBUETEH.

RV HERAE B5 W 5K



